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FAEME | KE B Alexandrium Dinophysis e
D. fortii D. acuminata Z DD Dinophysis
OHHT 6.88 | 3152 170 20 0
QAR 6.00 | 3151 170 0 0
B iR 572 | 3163 0 0 0
@A F I - - - - -
GOXE#ME| 530 3243 0 0 0
©F1R 530 | 32.34 0 0 0
DEE - - - - -
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;RER Alexandrium ($Ba%k/L)
OEE |QBH#H Q=—VIE |(@EHIF |OXEHAGEIRE (DEE |®FE [(QFE |(DXR
10A5~8H 10 20 10 0 20 0 30 0 0
10A15H 0 0 0 0 0 10 0 - =
10H20H 20 20 0 10 10 0 0 - - -
10827H 10 50 10 0 10 10 0 - - =
11H3~4H 0 20 0 10 10 0 0 0 0 0
11H10H 20 30 0 0 10 0 0 - - -
11H17H 50 0 10 0 0 10 0 = - =
11A25H 40 10 0 0 0 0 0 = - -
11H30H~12A2H - - - = = - = 0 0 0
12A8H 0 0 0 0 0 0 0 = - -
12A16H 0 10 = - 0 0 = - - =
12H22H 10 0 0 0 0 0 0 = - =
1A5~6H 130 0 0 0 0 0 0 0 0 0
1813H 410 10 0 10 0 0 0 = - =
1819H 360 0 0 0 0 0 0 = - =
1H26H 1180 0 0 0 0 0 0 = - -
2H2~3H 1430 10 10 0 0 0 0 0 0 0
2H9H 7190 90 10 0 0 0 0 - - =
2816H 1750 - = = - - = - - =
2H24H 1310 940 20 = 210 0 = = - =
3H3H 180 20 20 0 0 40 0 0 0 0
3H9H 170 170 0 — 0 0 — — - —
;REAR D. fortii ($AREZR/L)
Ol |@FAR |QZViR |[@EHIE OASHACOEIE |(DES |@FE |(QRE |OXR
10H5~8H 0 20 10 0 0 0 0 0 0
10A15H 0 10 0 0 10 0 0 = - -
10A20H 0 0 10 0 0 0 0 - - -
10A27H 0 0 0 0 0 0 0 = =
11A3~4H 0 0 0 0 0 0 0
11H10H 10 0 0 0 0 0 0
11H17H 10 0 0 0 0 0 0 - - -
11 H25H 0 0 0 0 0 0 0 = - =
11308 ~12H2H - - - - - - - 0 0 0
12A8H 10 0 0 0 0 0 0 = - =
12A16H 0 0 = = 0 0 = = - =
12822H 0 0 0 0 0 0 0 - - =
1H5~6H 0 0 0 0 0 0 0 0 0 0
1H13H 0 0 0 0 0 0 0 = - =
1819H 0 0 0 0 0 0 0 = - =
1H26H 0 0 0 0 0 0 0 = - =
2H2~3H 0 0 0 0 0 0 0 0 0 0
2H9H 0 0 0 0 0 0 0 - - -
2H16H 0 - = = = - = = - =
2H24H 0 0 0 = 0 0 = - - =
3H3H 0 0 0 0 0 0 0 0 0 0
3H9H 170 20 0 - 0 0 — — — —
;REAR D. acuminata ($RBE/L)
OHET |QFHH QO=VIR |(@EHIZ |OXEHAGEE (DEE |®FE [(9FE |(OXR
10A5~8H 140 30 20 0 20 0 30 0 0
108 15H 20 10 0 10 0 0 0 = - =
108 20H 40 30 10 0 0 0 20 = - -
10A27H 30 10 0 0 10 0 0 - - -
11A3~4H 60 0 0 0 0 0 0 0 0 0
11H10H 30 0 0 0 0 0 0 - - =
11H17H 10 0 0 0 0 0 0 = - =
11 H25H 70 0 0 0 0 0 0 - - -
11H30H~12H2H - - - = - - = 0 0 10
12H8H 30 30 0 10 0 0 0 = - =
12A16H 20 0 = = 0 0 = = - -
12H22H 20 0 0 0 0 0 0 - - -
1H5~6H 20 0 0 0 0 0 0 0 0 0
1H13H 70 0 0 0 0 0 0 - - =
1A19H 80 0 0 0 0 0 0 = - =
1H26H 110 0 0 0 0 0 0 - - -
2H2~3H 480 0 0 0 0 0 0 0 0 0
2H9H 1250 0 0 0 0 0 0 = - -
2H16H 60 - = = = - = = - =
2H824H 170 10 0 - 0 0 = = - =
3H3H 120 0 0 0 0 0 0 0 0 0
3H9H 710 0] 0 — 0 0 = = - —




